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QUESTION 1

A work item appears in a plan when which two conditions are met? (Choose two.) 

A. The Filed Against field has the work item category linked to the team area that owns the plan. 

B. The Due Date field of the work item is on or before the end date of the plan. 

C. The work item is assigned to a member of the team that owns the plan. 

D. The Planned For field in the work item matches the Iteration field of the plan. 

E. The work item is created by a member of the team area that owns the plan. 

Correct Answer: AD 

 

QUESTION 2

The Jazz Team Build system can integrate with which three build or continuous integration systems? (Choose three.) 

A. Maven 

B. Hudson/Jenkins 

C. BuildForge 

D. Subversion 

E. Eclipse 

Correct Answer: ABC 

 

QUESTION 3

What are the distinct types of dashboards? 

A. Project, Team, Personal, and Mini 

B. Web, Eclipse, Workbench, and Visual Studio 

C. Lifecycle, Full, Partial, and Mini 

D. Public, Private, Semi-private, and Shared 

Correct Answer: A 

 

QUESTION 4

Which two items/objects can own a component? (Choose two.) 

C9510-820 PDF Dumps | C9510-820 Exam Questions | C9510-820 Braindumps                                2 / 4

https://www.leads4pass.com/c9510-820.html
https://www.leads4pass.com/c9510-820.html
https://www.leads4pass.com/c9510-820.html


https://www.leads4pass.com/c9510-820.html
2024 Latest leads4pass C9510-820 PDF and VCE dumps Download

A. A user 

B. An iteration 

C. A source file D. A team area 

Correct Answer: AD 

 

QUESTION 5

A team wants to make some attributes mandatory when work items are created. In order to meet this objective, want
can be done in Rational Team Concert ? 

A. Work item attributes are all optional by design and there is no way to define mandatory attributes for work items 

B. Add a precondition to the Work Item Save operation to define which fields in a work item must be filled in before it
can be saved 

C. Work item attributes are all mandatory by design. Users who create a work item are required to fill in all the
attributes. 

D. Add a follow-up action to the Work Item Save operation to define the error message to display when mandatory
attributes are not filled in 

Correct Answer: B 

 

QUESTION 6

Which three statements are true? (Choose three.) 

A. The Deliver operation copies change sets from the repository workspace to the flow target. 

B. The Check-In operation copies files modified from the local sandbox to the repository workspace. 

C. The Check-Out operation copies files from the repository workspace into the local sandbox. 

D. The Accept operation copies change sets from the flow target into the repository workspace and local sandbox. 

Correct Answer: ABD 

 

QUESTION 7

In an iteration plan, which value is represented by the length of the progress bar 

A. The amount of work estimated 

B. The amount of work completed 

C. The amount of work on schedule 

D. The amount of active work 
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Correct Answer: B 

 

QUESTION 8

What is a function of a snapshot? 

A. to create a picture file of a specific work item in an iteration plan 

B. to capture the state of all the components in a stream or workspace 

C. to lock a set of files in a repository workspace and provide isolation 

D. to track the flow targets for a repository workspace to another workspace 

Correct Answer: B 

 

QUESTION 9

Which three Rational Team Concert user interfaces allow users to request and view build results? (Choose three.) 

A. Eclipse client 

B. Visual Studio client 

C. web client 

D. command line 

E. Customer Information Control System 

Correct Answer: ABC 

 

QUESTION 10

A customer expects a work item with an appropriate "Planned for" attribute to show on a team\\'s iteration plan, but the
work item is missing from the plan view. What is the most likely reason? 

A. The work item\\'s owner is unassigned. 

B. The work item\\'s owner is not part of the team owning the plan. 

C. The work item\\'s Filed Against category is not associated to the team owning the plan. 

D. The work item\\'s due date is set to a date after the iteration\\'s end date. 

Correct Answer: C 
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